Physics II
Homework III                                                                                                               CHJ

Chapter 24; 10, 16, 22, 47, 56, 64, 68
24-10:
a)
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b)
The initial point was a higher potential than the latter since any positive 



charge, when free to move, will move from greater to lesser potential.
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c)
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24-16:
a)
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b)
V = 2
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c)
Looking at the diagram in (a): V(x) = 
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d)
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e)
When x>> a, V = 
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 just like a point charge of charge +2q.

24-22:
a)
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b)
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c)
The electric field is directed away from q since it is a positive charge.

24-37:  This is a spreadsheet or computer exercise using the relaxation method outlined in detail in Section 24-8, and based upon the steps given on pages 756-757.
24-56:
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 (Balance forces in x and y directions.) But also:
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24-68:
a)
From Example 22-10, we have:
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b)
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